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6HJDOD�SXML�GDQ�V\XNXU�NHKDGLUDW�$OODK�6:7�\DQJ�WHODK�PHPEHULNDQ UDKPDW�GDQ�KLG\DK�1\D�

\DQJ GLOLPSDKDNDQ� NHSDGD� SHQXOLV�� VHKLQJJD� ELVD� PHQ\HODVDLNDQ� SUR\HN� DNKLU� GHQJDQ� MXGXO�

³3(0%8$7$1 $3/,.$6,� 3(1'(7(.6,� 7(.$1$1�'$5$+ %(5%$6,6�:(%6,7(� '$1�

+,6725<�%(5%$6,6�$1'52,'´� VHEDJDL� V\DUDW� XQWXN�PHQ\HOHVDLDNDQ� NXOLDK SDGD� 3URGL�'���

5HND\DVDQ�3HUDQJNDW�/XQDN�$SOLNDVL�

'DODP�SHQ\XVXQDQ�ODSRUDQ�NHUMD�SUDNWHN�LQL��WHQWX�WDN�OHSDV�GDUL�SHQJDUDKDQ�GDQ�ELPELQJDQ�

GDUL�EHUEDJDL�SLKDN��0DND�SHQXOLV�XFDSNDQ�UDVD�KRUPDW�GDQ�WHULPDNDVLK�NHSDGD�VHPXD�SLKDN�\DQJ�

WHODK�PHPEDQWX��3LKDN�SLKDN�\DQJ�WHUNDLW�LWX�GLDQWDUDQ\D�VHEDJDL�EHULNXW��

�� .HGXD�2UDQJ� WXD�EHVHUWD� VDXGDUD�\DQJ� WHODK�PHPEHULNDQ�GRD�GDQ�GXNXQJDQ� VHODPD�SURVHV�

SHPEXDWDQ�VNULSVL�

�� %DSDN�5DKPDGL�:LMD\D��6�6L���07 VHODNX�.DSURGL�'��5HND\DVD�3HUDQJNDW�/XQDN�$SOLNDVL�

�� ,EX�0LD�5RVPLDWL�� 6�6L���07 VHODNX� GRVHQ� SHPELPELQJ� \DQJ� VHODOX�PHPEHULNDQ� LOPX� GDQ�

VROXVL�GL�VHWLDS�SHUPDVDODKDQ�SDGD�SHPEXDWDQ�SUR\HN�DNKLU�LQL�NHSDGD�SHQXOLV�

�� ,EX�+HWWL�+LGD\DWL�� 6�.RP���07 VHODNX�GRVHQ�ZDOL� \DQJ� VHODOX�PHPEHULNDQ� GXNXQJDQ�GDQ�

LQIRUPDVL�NHSDGD�SHQXOLV�

�� 6HOXUXK� %DSDN�,EX� GRVHQ� SURGL� '�� '�� 5HND\DVD� 3HUDQJNDW� /XQDN� $SOLNDVL� \DQJ� WHODK�

PHPEHULNDQ�LQIRUPDVL�GDQ�SHQJHWDKXDQ�\DQJ�VDQJDW�EHUPDQIDDW�VHODPD�PDVD�SHUNXOLDKDQ�

�� 6DKDEDW�GDQ�WHPDQ�� WHPDQ�VHNHODV�SHQXOLV�\DQJ�VHODOX�PHPEHULNDQ�GXNXQJDQ�

�� 6HPXD� SLKDN� \DQJ� WLGDN� GDSDW� GLVHEXWNDQ� VDWX� SHUVDWX� \DQJ� WHODK� PHPEDQWX� PHPEHULNDQ�

GXNXQJDQ�

3HQXOLV�PHQ\DGDUL� EDKZD� GDODP� ODSRUDQ� LQL� WHUGDSDW� NHNXUDQJDQ�� ROHK� NDUHQD� LWX�� SHQXOLV

PHPLQWD� PDDI� GDQ EHUKDUDS� SUR\HN� DNKLU� LQL� PHPEHULNDQ� PDQIDDW� EDJL� SHQJJXQDQ\D�� $WDV�

3HUKDWLDQQ\D�SHQXOLV�XFDSNDQ�WHULPDNDVLK�
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